Exercise 4.3

37. Arrests The annual number of arrests by the New York State Police for driving infraction is given by y=1.6 46x³-18.494x²+39.403x+838.950, where y is thousand and x is the number of years from 1990.

a. What does the model estimate the number of arrests to be in 1995?

b. Use technology to find the year after 1995 when there will be 813,310 arrests, according to this model.

39. Japanese Economy The percent change y in the Japanese gross domestic product (GDP) for years since 1997 is given by y = 0.148x4-5.829x³ + 85.165x²-545.851x+1293.932, where x is the number of years after1990.
a. Use graphical or numerical methods with this model to find the year before 1999 when the change in GDP was approximately 1.3%

b. According to this model, will the change in GDP ever be 1.3% again?

Exercise 4.4

39. Births The number of births to females in United State under 15 years of age can be modeled by the function y=0.000876x³-0.0492x²+0.831x+6.922, where y is the number of thousand of births and x is the number of years from 1960. If the model indicates that 11,224 births occurred in 1990, find two other years when the model indicates that 11,224 births occurred.

